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PERCENTAGES

1. Express 36 % as a fraction.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_S3d2CdfrbVNX

2.Express 64 % as a decimal.

o Watch Video Solution

3. Express 20 s Per cent.

o Watch Video Solution

4.Find 36 % of 30.

o Watch Video Solution



https://dl.doubtnut.com/l/_S3d2CdfrbVNX
https://dl.doubtnut.com/l/_wo9zkLjkrTr2
https://dl.doubtnut.com/l/_bkTbDItryQFc
https://dl.doubtnut.com/l/_SRKJQqVLMODQ

5.x is what per cent of y?

o Watch Video Solution

6.if x is 80 % of y then y is what percentage of

X?

o Watch Video Solution

7. What per cent of 3.6 km is 360 metres?


https://dl.doubtnut.com/l/_SRKJQqVLMODQ
https://dl.doubtnut.com/l/_xqGztnHiT9Tl
https://dl.doubtnut.com/l/_5pC57wDUzIs2
https://dl.doubtnut.com/l/_CpdHZ5dmcegu

° Watch Video Solution

8. Find the number whose 30 % is 36.

° Watch Video Solution

9.By what per cent is the sum of Rs. 100 more

than the sum of Rs. 90?7

o Watch Video Solution



https://dl.doubtnut.com/l/_CpdHZ5dmcegu
https://dl.doubtnut.com/l/_NltSadanIkIQ
https://dl.doubtnut.com/l/_YIV6v278dzOw

10. If anils salary is 20% less than Raju salary
then by what percent is Raju's salary more

than that of Anil ?

o Watch Video Solution

11. Mohit's weight is 40 kg and Rohan's weight
is 35kg. By what per cent is Rohan's weight less

than the of Mohit ?

o Watch Video Solution



https://dl.doubtnut.com/l/_MlszP1UXZHgi
https://dl.doubtnut.com/l/_croRdEOcBPWM
https://dl.doubtnut.com/l/_6qhPmZxLDobO

12. In an examinatin, Mohit secured 60 % of
the maximum marks, which is more than the
pass marks by 45 marks. Find the maximum
marks in the examinaion if the pass mark is

45.

o Watch Video Solution

13. A solution of 150 litres contains 60 % of
milk and the rest is water. How much water

must be added to the above about solution


https://dl.doubtnut.com/l/_6qhPmZxLDobO
https://dl.doubtnut.com/l/_ke25KGeSwVny

such that the resulting mixture contains 50 %

of water (in litres) ?

° Watch Video Solution

14. In an election there are three contestants
A, B and C. A secured 30 % of the votes and B
secured 60% of the remaining votes. If C
secured 14000 votes, then by how many votes

did the winner win the election ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ke25KGeSwVny
https://dl.doubtnut.com/l/_so0HJq5IqYBx
https://dl.doubtnut.com/l/_mXUewBNiheaJ

15. Ramu's salary increased by 20 % and then
decreased by 30 % The effective change in his
salary was Rs. 8560. Find his original salary ( in

Rs.)

° Watch Video Solution

16. In a certain month, Amar donated 8 % of
his monthly income to a charity and deposited
25 % of the remaining in a bank. He was left

with Rs.27600. Find his monthly income (in Rs.)

l ° Watch Video Solution


https://dl.doubtnut.com/l/_mXUewBNiheaJ
https://dl.doubtnut.com/l/_PC6GOfhpW8Y4

17.P, O and R contested in an election. All the
votes polled were valid. P got 30 % of the
total votes. For every 40 total votes, Q got 18
votes.The winner got 6000 more votes than
the person who received the least number of

votes. Find the total number of votes polled.

° Watch Video Solution



https://dl.doubtnut.com/l/_PC6GOfhpW8Y4
https://dl.doubtnut.com/l/_7RPjBt5yOoZV

18. Calculate the cost of living indext for the
year 2008 taking 2000 as the base year from

the following information.

_ Commodity Qua

Rate (inZperkg)
: ¥ 2000 2008
Rice 25 16 20

Qil 5 40 80
Pulses 10 25 40
Vegetables 15 10 16

o Watch Video Solution

19. Express 36 % as a fraction.

o Watch Video Solution



https://dl.doubtnut.com/l/_lYeOh7EpbGYJ
https://dl.doubtnut.com/l/_Cp4Pk2nsMDCF
https://dl.doubtnut.com/l/_ozBGRIpZ2eFz

20. Express 64 % as a decimal.

o Watch Video Solution

21. Express 20 s Per cent.

o Watch Video Solution

22.Find 36 % of 30.

o Watch Video Solution



https://dl.doubtnut.com/l/_ozBGRIpZ2eFz
https://dl.doubtnut.com/l/_WT8TiJFQIM2u
https://dl.doubtnut.com/l/_pBI29WcUCLg9
https://dl.doubtnut.com/l/_cLrxdMMYWW5t

23.x is what per cent of y ?

o Watch Video Solution

24.y is what percentage of x ?

o Watch Video Solution

25. What percentage of 3.6km is 360m?

o Watch Video Solution



https://dl.doubtnut.com/l/_cLrxdMMYWW5t
https://dl.doubtnut.com/l/_sfTohl8VmwWF
https://dl.doubtnut.com/l/_rRlu7ktLZYTa
https://dl.doubtnut.com/l/_P0DRDupqXUT5

26. Find the number whose 30 % is 36.

o Watch Video Solution

27.By what per cent is the sum of Rs. 100 more

than the sum of Rs. 90?

° Watch Video Solution

28. If anils salary is 20% less than Raju salary

then by what percent is Raju's salary more


https://dl.doubtnut.com/l/_P0DRDupqXUT5
https://dl.doubtnut.com/l/_cYz0ss9UTzCy
https://dl.doubtnut.com/l/_HUWruneIyhrP

than that of Anil ?

o Watch Video Solution

29. Mohit's weight is 40 kg and Rohan's weight
is 35kg. By what per cent is Rohan's weight less

than the of Mohit ?

o Watch Video Solution

30. In an examinatin, Mohit secured 60 % of

the maximum marks, which is more than the


https://dl.doubtnut.com/l/_HUWruneIyhrP
https://dl.doubtnut.com/l/_mQnXfmmEJbc9
https://dl.doubtnut.com/l/_uAt0PBrTlZt9

pass marks by 45 marks. Find the maximum

marks in the examinaion if the pass mark is

45.

° Watch Video Solution

31. A solution of 150 litres contains 60 % of
milk and the rest is water. How much water
must be added to the above about solution
such that the resulting mixture contains 50 %

of water (in litres) ?

° Watch Video Solution



https://dl.doubtnut.com/l/_uAt0PBrTlZt9
https://dl.doubtnut.com/l/_OXKgFJwkusLk

32.In an election there are three contestants
A, B and C. A secured 30 % of the votes and B
secured 60 % of the remaining votes. If C
secured 14000 votes, then by how many votes

did the winner win the election ?

o Watch Video Solution

33. Ramu's salary increased by 20 % and then

decreased by 30 % The effective change in his


https://dl.doubtnut.com/l/_OXKgFJwkusLk
https://dl.doubtnut.com/l/_SGiM1y8yYWX5
https://dl.doubtnut.com/l/_JbmiC9JjenPe

salary was Rs. 8560. Find his original salary ( in

Rs.)

° Watch Video Solution

34. In a certain month, Amar donated 8 % of
his monthly income to a charity and deposited
25 % of the remaining in a bank. He was left

with Rs.27600. Find his monthly income (in Rs.)

o Watch Video Solution



https://dl.doubtnut.com/l/_JbmiC9JjenPe
https://dl.doubtnut.com/l/_Fp3qUrkJEiE5

35.P, Q and R contested in an election. All the
votes polled were valid. P got 30 % of the
total votes. For every 40 total votes, Q got 18
votes.The winner got 6000 more votes than
the person who received the least number of

votes. Find the total number of votes polled.

o Watch Video Solution

36. Calculate the cost of living indext for the

year 2008 taking 2000 as the base year from


https://dl.doubtnut.com/l/_xM5HZaBRoP18
https://dl.doubtnut.com/l/_HXq1HkVzolCb

the following information.

_RatelinZperkg)

o Watch Video Solution

Very Short Type Questions

1. Express 25 % as a decimal

o Watch Video Solution



https://dl.doubtnut.com/l/_HXq1HkVzolCb
https://dl.doubtnut.com/l/_7D7bEYdzfPYi
https://dl.doubtnut.com/l/_q9EIeRtuTVnb

2. Express o5 as per cent.

° Watch Video Solution

3.50 % of 2000 is

° Watch Video Solution

4.Express 20 % as a fraction

° Watch Video Solution



https://dl.doubtnut.com/l/_q9EIeRtuTVnb
https://dl.doubtnut.com/l/_2mNJIwwgujIZ
https://dl.doubtnut.com/l/_jiq1xNNkNWtI
https://dl.doubtnut.com/l/_uFF6oYhbPPCD

3
5. What percentage is equal to 3 ?

° Watch Video Solution

6. What per cent of 52 kg is 25 kg ?

° Watch Video Solution

7. What per cent of 1 litre is 200 ml

° Watch Video Solution



https://dl.doubtnut.com/l/_uFF6oYhbPPCD
https://dl.doubtnut.com/l/_4oYPL40GqOP1
https://dl.doubtnut.com/l/_1nBrSf09EWG5
https://dl.doubtnut.com/l/_Q8VEMXpjZufb

8. If /5% of a number is 6, then

percentage of that number s 17

what

° Watch Video Solution

9.1f 2% of xis 20, then x=

° Watch Video Solution

10.z % ofyis equal to y % of x.

° Watch Video Solution



https://dl.doubtnut.com/l/_Q8VEMXpjZufb
https://dl.doubtnut.com/l/_MTj488OsWm6E
https://dl.doubtnut.com/l/_1wKQPZMTj2JG

3 3
mIf <§0fx) % iSZ’ then find x.

° Watch Video Solution

12.1f £ % of 25is2, thenx = ____

° Watch Video Solution

1B. a% (b+c) is equal to b% of(a + b).

(True/False)

o Watch Video Solution



https://dl.doubtnut.com/l/_LpqLFj3UYiGm
https://dl.doubtnut.com/l/_10gNaZDLKBZR
https://dl.doubtnut.com/l/_gKvpgbN7khsz

14.1f X is 30 % of Zand Y is 60 % of z, then X

is what percentage of Y?

° Watch Video Solution

15.20 % ofx + 25 % 0f20 = 250140, find x.

° Watch Video Solution



https://dl.doubtnut.com/l/_gKvpgbN7khsz
https://dl.doubtnut.com/l/_vA5httx6qA39
https://dl.doubtnut.com/l/_CLey3CoHBEsD

16. 1f | am 10 % taller whan you, then you are

10 % shorter than me. (True/False)

° Watch Video Solution

17. In a class there are 16 girls out of 40
students in total. Girls as a percentage of total

students are

° Watch Video Solution



https://dl.doubtnut.com/l/_bJubDApGoNkd
https://dl.doubtnut.com/l/_eVeRfXCZrgq7

18.1f (0.15 x z) is equal to 12.5% of 3, then

find x.

o Watch Video Solution

19.If a is 2 times of b, then b is 100 % more
than a.

(True /False)

o Watch Video Solution



https://dl.doubtnut.com/l/_JoC1LEQBungB
https://dl.doubtnut.com/l/_6OfrDctQffNU

20. Saving 20 % of your pocket money of Rs. C
means spending 80 % of your pocket money

of Rs. X? (True/ False)

o Watch Video Solution

21. The enroment of members in a club
increased from 500 to 550, Find the

percentage increase in enorlment.

o Watch Video Solution



https://dl.doubtnut.com/l/_43yuaR3fXMO7
https://dl.doubtnut.com/l/_nzcRoE2mWbFE
https://dl.doubtnut.com/l/_jbpaxoZEz6kp

22.The price of an article is increased twice in
succession, each by 10%. The result is

% increase.

o Watch Video Solution

23. If z:y=3:4, then x is 60% of y.

(True/False)

o Watch Video Solution



https://dl.doubtnut.com/l/_jbpaxoZEz6kp
https://dl.doubtnut.com/l/_8kWs1QCvCu7M

24. Last year Mohit's computer fee was 10 %
of his total school fees. This year Mohit's
comouter fee is 15 % of his total school fees.
There is a 5% increase in Mohit's computer
fees this year when copared to that of last

year. (Ture/Cannot say)

o Watch Video Solution

25. If my marks in maths are less than your

markes in Maths by 20 % then your marks in


https://dl.doubtnut.com/l/_2xnQmGnXM5id
https://dl.doubtnut.com/l/_hCJiEC44Ev91

Maths are 25% more than my marks in

Maths. (True/False)

° Watch Video Solution

26. The price of wheat has increased by 25 % .
Find the reduction in consumption so that

there is no change in the expenditure.

° Watch Video Solution



https://dl.doubtnut.com/l/_hCJiEC44Ev91
https://dl.doubtnut.com/l/_Si79M9qXDLr3

27.1f 20 % of the student in a school are girls
and the number of boys is 3060, then find the

total strength of the school.

o Watch Video Solution

28.In an examination, x and y secured 732 and
864 marks respectively. If y secured 72 %
marks then find the percentage of marks

secured by x.

° Watch Video Solution



https://dl.doubtnut.com/l/_oCU6cgBgna3P
https://dl.doubtnut.com/l/_dCtWAfte7Q9e

29.If A:B=4:6 and B:C = 3.4, then by

what percentage is C more than A.

o Watch Video Solution

30. In an examination, Salim secured 52 %
marks and got 114 marks more than the pass
marks and A zam secured 39 % marks and got
36 marks more than the pass mark. Find

(@) The pass mark.

(b) The pass percentage.


https://dl.doubtnut.com/l/_dCtWAfte7Q9e
https://dl.doubtnut.com/l/_DieETwLEe5CX
https://dl.doubtnut.com/l/_ZBnsW1q6Ze3k

° Watch Video Solution

Short Type Questions

1. A venor puchased some spples, out of which
6 % were rotten. If the number of rotten
apples was 51, then how many apples did he

buy ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZBnsW1q6Ze3k
https://dl.doubtnut.com/l/_61MrxKsQKvjf

2. In an election only two candidates Ram and
Shyam contested, Ram got 75 % of the total
valid votes. 6 % of the polled votes were
declared invalid. If 64200 votes were polled,
then find the number of valid votes polled in

favour of Shyam.

o Watch Video Solution

3.I1f Ais 20% more than C and B is 60 % 1

more than C, then A’ is what percentage of B?

| & |


https://dl.doubtnut.com/l/_dIxz447OkWIw
https://dl.doubtnut.com/l/_MkHaXgaEjPcB

| ¥ Watch Video Solution |

5
4. What fractin is equalto —— % 7

5.8.9

o Watch Video Solution

5.A number when increased by 40 % becomes

42.What is the number ?

o Watch Video Solution



https://dl.doubtnut.com/l/_MkHaXgaEjPcB
https://dl.doubtnut.com/l/_5554GJhzb5ds
https://dl.doubtnut.com/l/_x6lFjch8hcYi

6. A had Rs. 160 and B had Rs 140. A spent
20 % and B spent 30 % of the money they

had. Who spent more money ?

o Watch Video Solution

7. Due to a rise of 12% in the price of
mangoes a dealer gets 27 kg less for Rs. 24750.
Find

(@) The new price per kg of mangoes.


https://dl.doubtnut.com/l/_r4vQQsZO6XCy
https://dl.doubtnut.com/l/_MvbiurK70s8E

(b) The orginal price per kg of mangoes

(approximately).

° Watch Video Solution

8. 175 litres of a solution contains 88 % of acid
and the rest water. How many liters of water
must be added such that the resulting mixture

contains 23 % of water ?

o Watch Video Solution



https://dl.doubtnut.com/l/_MvbiurK70s8E
https://dl.doubtnut.com/l/_bcCiWu8uIGyj

9. As weight is 20 % more than B's weight,
whose weight is 30 % more than C's weight.
Then A's weight is '50% more than C's weight.

Verify.

o Watch Video Solution

10. Given are there numbers. If the second and
the third numbers respectively are 20 % and
50 % more than the third number, then what

percentage is the first of second ?

| & I


https://dl.doubtnut.com/l/_DiGchOnr0lvl
https://dl.doubtnut.com/l/_DGgG8XiVXFVH

| ¥ Watch Video Solution |

1
nIf 33§ % of an AC ticket fare is equal to
2
665 % of a non-AC ticket fare, then what

percentage of AC ticket fare is equal to non-AC

ticket fare ?

o Watch Video Solution

12. Ravi earned a sum of Rs. 10800 and
donated 40 % of it to charity. He give 15 % of

the remaining amount to Ramu. After giving


https://dl.doubtnut.com/l/_DGgG8XiVXFVH
https://dl.doubtnut.com/l/_pywnJNn2RI7Y
https://dl.doubtnut.com/l/_jflao1yWKAvK

25 % of the remaining amount to Anitha, he
deposited the rest in a bank. How much money

did he deposit in the bank?

o Watch Video Solution

13. The manufacturing cost of 10 articles is Rs.
150 Tax on each article is 6% of the
manufacturing cost. Transportation cost
comes to Re. 1 per articles. By what per cent is
the total cost more than the manufacturing

cost ?

| e |


https://dl.doubtnut.com/l/_jflao1yWKAvK
https://dl.doubtnut.com/l/_21jhhA8dfcoL

& Wwatch Video Solution I

14.1f £ % of 25 is equal to y % of 15 and y %
of 15 is equal to 25 % of 20, then find the

value of x.

° Watch Video Solution

15. Rohan and Sohan earn salaries which are in
the ratio of 3:4 respectively. Sohan saves
11 % of his salary and Rohan saves 18 % of

his salary. If Sohan seves Rs.2310, then find


https://dl.doubtnut.com/l/_21jhhA8dfcoL
https://dl.doubtnut.com/l/_TX8kDLIkd6gT
https://dl.doubtnut.com/l/_v3dbunox8MJ4

(a) The savings of Rohan

(b) The sum of the salaries of both

° Watch Video Solution

Essay Type Questions

1. A total of 1100 votes were polled in a school

election for a school head boy. Among three
contestants, the first secured 25% votes
more than the second and the third secured

300 votes less than the first. By what percent


https://dl.doubtnut.com/l/_v3dbunox8MJ4
https://dl.doubtnut.com/l/_Z5D9IBumhLaE

of votes was the third contestant defecated by

the first contestant?

° Watch Video Solution

2. A basket contains apples, guravs and
organs. The number of guavas is 60 % more
than that of apples and the number of
oranges is 12.5 % less than that of Guaves. If
the total number of these fruits is 80, then

find the number of oranges.

° Watch Video Solution



https://dl.doubtnut.com/l/_Z5D9IBumhLaE
https://dl.doubtnut.com/l/_6Z5Zg2n3xfM3

3. The price of a refrigetor, P is 5 times that of
a cooler Q. If then price of P increases by
40 % . then what is the change in the total
price of the refrigerator and cooler put

together ?

o Watch Video Solution

4. Raja gave 20% of his income to his
daughter, 40 % of the remaining to his first

son, 30 % of the remaining to his second son


https://dl.doubtnut.com/l/_6Z5Zg2n3xfM3
https://dl.doubtnut.com/l/_HkWtJvqpqm6J
https://dl.doubtnut.com/l/_pHmypb87a0Lz

finally the remaining Rs 12600 was donated to

a charitable trust. Find Raja's income.

° Watch Video Solution

5. A shopkeeper sold certain articles. Cost
price of each article and the number of articles

sold are given below.

Quantity .~ Cost Price Par MSice fn ¥)

Soid 1996 2006
Fans 100 450 800
Refrigeratars 50 8000 10000
Sofa set 130 500 8000
Coolers 190 3000 5000

Calculate the cost of libing index for the year


https://dl.doubtnut.com/l/_pHmypb87a0Lz
https://dl.doubtnut.com/l/_7YK3frK5o782

2006 taking 1999 as the base year

(approximately).

° Watch Video Solution

1. The numer of enrolments in a school has

increased from 1800 to 2016. The percentage

increase in the enrolments is

A.10 %


https://dl.doubtnut.com/l/_7YK3frK5o782
https://dl.doubtnut.com/l/_64LfHPMolTIo

B.11 %

C.12%

D.13 %

Answer: C

o Watch Video Solution

2. The price of a commodity is increased by
40 % By what per cent should a consumer

reduce his consumption so that his


https://dl.doubtnut.com/l/_64LfHPMolTIo
https://dl.doubtnut.com/l/_ceqQziWwxQSX

expenditure on the commodity remains

constant ?

4
A. 257 %

4
B. 26—
67%

4
C. 247 %

4
D. 28—
87%

Answer: D

0 Watch Video Solution



https://dl.doubtnut.com/l/_ceqQziWwxQSX

3. If Ram's salary went up by 25% then by
what percent should it by brought down to
bing it to its initial value ?

A. 25 %

B.20 %

C.33.33 %

D.37.5%

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_bSxCM54hMwoO

4. A number, when decreased by 20%

becomes 136. What is the number ?

A. 160

B. 150

C.170

D. 140

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_japWePkx0XCf
https://dl.doubtnut.com/l/_4Pd50cRmGmBT

5.1f 60 % of K is 30 less than 75 % of K, then

what is the value of K ?

A. 500

B.300

C.400

D. 200

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_4Pd50cRmGmBT

6. The length of a reactangle is increased by
10 % while its breadth is decreased by 10 % .
what is the consequent percentage change in
the area of the reactangle ?

A.1% increase

B.10 % increase

C.10 % decrease

D.1 % decrease

Answer: D

‘ ° Wiadk lh \AAA CAaliikianm



https://dl.doubtnut.com/l/_hZkR4wdidoD6

YVOILLIL VI INAGINIE L J)

7. In an examination, Ramu and Raje secured
783 marks and 684 marks respectively. If Ramu
secured 87 % marks, then the percentage of

marks secured by Raje is :

A. 75 %

B.76 %

C.77 %

D. 78 %


https://dl.doubtnut.com/l/_hZkR4wdidoD6
https://dl.doubtnut.com/l/_zvgwDIfpZ6YK

Answer: B

o Watch Video Solution

8. In an examination, Ramesh secured 574

marks and Rekha secured 76 % of the total

marks. If Ramesh secured 82 % of the total

marks, the difference in their marks is

A.40

B. 41

C.42


https://dl.doubtnut.com/l/_zvgwDIfpZ6YK
https://dl.doubtnut.com/l/_ado7UAAaaevf

D. 43

Answer: C

° Watch Video Solution

9. By what per cent will the area f a square

change if its side is increased by 10 % ?

A.10 % increase

B.20 % increase

C.10 % decrease


https://dl.doubtnut.com/l/_ado7UAAaaevf
https://dl.doubtnut.com/l/_RGcMVEaRaySi

D.21 % increase

Answer: D

° Watch Video Solution

10. The population of a city increases by 30 %
every year. If the present population is 338000,
then what was the population of the city of

two years ago ?

A. 300000


https://dl.doubtnut.com/l/_RGcMVEaRaySi
https://dl.doubtnut.com/l/_6TKeq5gVum02

B. 250000

C. 200000

D. 240000

Answer: C

o Watch Video Solution

1. As expenditure is 20% more than B's
expenditure. B's expenditure is 30 % less then
'C's expenditure. By what percentage is As

expenditure less than C's expenditure ?


https://dl.doubtnut.com/l/_6TKeq5gVum02
https://dl.doubtnut.com/l/_nr4FGFThetzH

A.16 %

B.12 %

C.14 %

D. 18 %

Answer: A

° Watch Video Solution

12. Two numbers x and vy, are in the ratio

Ak By what per cent is x more thany ?


https://dl.doubtnut.com/l/_nr4FGFThetzH
https://dl.doubtnut.com/l/_rkcTixFJF33t

A. 10 %

B.9.09 %

C.12.5%

D.11. 11 %

Answer: D

o Watch Video Solution

13.Ramu save 14 % of his salary while Ramesh

saves 24 % . If both get equal salaries and


https://dl.doubtnut.com/l/_rkcTixFJF33t
https://dl.doubtnut.com/l/_FoB3C0qdjPV9

Ramesh save Rs. 1440, then

expenditure is

A.Rs. 5000

B. Rs. 5160

C. Rs. 6000

D.Rs. 7440

Answer: B

Ramu's

° Watch Video Solution



https://dl.doubtnut.com/l/_FoB3C0qdjPV9

14.The side of square ABD is 20 % longer than
the side of square PQRS. By what percentage is

the area of ABCD more than the area of PQRS?

A.20 %

B.24 %

C.40 %

D. 44 %

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6lDmvUEJL2nE

15. Only two candidates A and B contested in
an election. In the total of 20000 votes 10 %
were invalid. A won the election by 3600 votes.
What percent age of valid votes is secured by
B?

A. 45 %

B.40 %

C.30%

D. 35 %

Answer: B


https://dl.doubtnut.com/l/_1P1DjfKu0KzC

° Watch Video Solution

16. Raje's salary was first increased by 10 %
then decreased by 20 % If the latest salary is
'Rs 17600, then find his orginal salary.

A. Rs. 15000

B. Rs. 10000

C. Rs. 20000

D. Rs. 18000

Answer: C


https://dl.doubtnut.com/l/_1P1DjfKu0KzC
https://dl.doubtnut.com/l/_U0iHkSG6ziFx

° Watch Video Solution

17.1f Ais 50 % more than B, then B is less than
A by
1
A.333 %
B.25 %
C.50 %

D. 663 %

Answer: A

| 8 l


https://dl.doubtnut.com/l/_U0iHkSG6ziFx
https://dl.doubtnut.com/l/_VOgKP27Jk6uN

18. Jacob and Mohan same 20 % and 40 % of

their respective incomes. If their expenditure

is equal, then what is the ratio of the incomes

of Mohan and Jacob?

Al:2

B.3:4

C.2:1

D.4:3


https://dl.doubtnut.com/l/_VOgKP27Jk6uN
https://dl.doubtnut.com/l/_RJg7WbUL8Jcn

Answer: D

o Watch Video Solution

19. There are 3 numbers. The first and second
numbes are 20 % and 40 % more than the
third number. What percentage is the first
number of the sum of the second and the

third numbers ?

A. 25 %

B.50 %


https://dl.doubtnut.com/l/_RJg7WbUL8Jcn
https://dl.doubtnut.com/l/_ppH8G126HK4a

C.30%

D. 40 %

Answer: B

o Watch Video Solution

20. Three commodities, their consumption and
their pieces in the years 1985 and 1990 are

listed below:

Pricein 1985  Pricein 1990
= {in T/kg) . intkg)
Rice 90 kg 14.00 18.00
Wheat 150 kg 9.00 9.48
Tea 9kg 75.00 100.00

- Commodify Consumption



https://dl.doubtnut.com/l/_ppH8G126HK4a
https://dl.doubtnut.com/l/_XSQcPWVHogWP

The cost of living indext for the year 1990

taking 1985 as the base year is equal to

A. 100

B.10

C.120

D. 130

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XSQcPWVHogWP
https://dl.doubtnut.com/l/_YrSQLd6ygiHu

21. If the area of reatangle is increased by
13% and its breadth is increased by 5%,
then what is the percentage increase in its
length? (Approximately)

A.10 %

B.8 %

C.18 %

D.12 %

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_YrSQLd6ygiHu

22. A man donated 6 % of his income to a
charity and deposited 20 % of the rest in a
bank. If he is left with Rs. 14,100, then his

income is

A. Rs. 18000

B. Rs. 18250

C. Rs. 18500

D. Rs. 18750

Answer: D


https://dl.doubtnut.com/l/_YrSQLd6ygiHu
https://dl.doubtnut.com/l/_aFdfb9n1tKzH

° Watch Video Solution

23. madhav's salry is first increased by = %

and then decreased by = % . As a result his

2

T
salary is decreased by 100 % Comment.

A. True
B. False
C. Cannot be determined

D. None of these


https://dl.doubtnut.com/l/_aFdfb9n1tKzH
https://dl.doubtnut.com/l/_SF0VNeRnMfQT

Answer: A

° Watch Video Solution

24. The quantities consumed and the cost per
kg of the commodities for the years 1986 and

1995 are given in the table below:

Item

Qucnmkaonsumed Cost per kg (in 3)
s __Cost per kg (in 3]

In 1986 n 1995

Butter 16 30 50
Sugar 4 10 16
Tea 8 80 100
Rice 15 18 20

The cost of living indext for the year 1995

taking 1986 as the base year is equal to


https://dl.doubtnut.com/l/_SF0VNeRnMfQT
https://dl.doubtnut.com/l/_hDentIRMnGEr

A. 139.00

B.139.75

C. 193.50

D. 139.25

Answer: B

° Watch Video Solution

25. The price of an article increases by

10%,15% and 20% in 3 consecutive


https://dl.doubtnut.com/l/_hDentIRMnGEr
https://dl.doubtnut.com/l/_3wUVTd3xPg94

weeks. What is the appeoximate overall

percentag increase for the 3 weeks ?

A. 45 %

B.62 %

C.35%

D.52 %

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_3wUVTd3xPg94

26.1f Xis 3% ofZzand Yis 60 % of Z, then X is

what percentage of Y ?

A. 30 %

B.50 %

C.100 %

D. 60 %

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_l8QH2kUM7vIS
https://dl.doubtnut.com/l/_koOEqKfhFx6K

27. What per cent of 150 is 45?

A.20 %

B.30 %

C.60 %

D.13.5 %

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_koOEqKfhFx6K

28. If 20% of 30% of a certain number is

3000, find the number.

A. 40000

B. 80000

C. 50000

D. 75000

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_eHTUvKobwdbf

IHHHHIHI

1. A reductin of 10 % in the price of an article
enables a dealer to purchase 25 articles more
for Rs. 45000. What is the original price of the
article ?

A.Rs. 100

B.Rs. 150

C.Rs. 200

D. Rs. 250


https://dl.doubtnut.com/l/_tzPpv6Fmyi14

Answer: C

o Watch Video Solution

2. The percentag increases in the total number
of students of a school over that in the

previous year.

1999-2000 20%
2000-2001 30%
2001-2002 10%

Find the effective percentage increase in the


https://dl.doubtnut.com/l/_tzPpv6Fmyi14
https://dl.doubtnut.com/l/_enoMJYqTaRuo

number of students from 1998-1999 to 2000-

2001.

A.31.6 %

B.71.6 %

C.62.6 %

D.81.6 %

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_enoMJYqTaRuo

3. A solution of 165 litres contains 80 % of
acid and the rest water. How much water must
be added to the above solution such that the
resulting mixture contains 25 % water ?

A. 11 litres

B. 8 litres

C. 9 litres

D. 10 litres

Answer: A

‘ ° Wiak lh \AAaA CAaliikianm



https://dl.doubtnut.com/l/_320ouIP4z3fG

YVOILLIL VI INAGINIE ] )

4.Laxma save 10 % more than his expenditure
and Bhuwan spends 10% more than his
savings. If Laxman's saving is 10 % more than
Bhuwans' expenditure, what is the ratio of
incomes of Laxman and Bhuwan?

A.9:10

B.100:99

C.10: 11

D.11:10


https://dl.doubtnut.com/l/_320ouIP4z3fG
https://dl.doubtnut.com/l/_FSP3llg19j3T

Answer: D

° Watch Video Solution

5. Madan spends 50 % of his income on house
hold expenditure and 60 % of the remaining
on personal expenditure. Of the remaining, he
pays 50 % towards income tax and saves the
reamining Rs. 1200. What is the personal

expenditure of Madan?

A. Rs. 1800


https://dl.doubtnut.com/l/_FSP3llg19j3T
https://dl.doubtnut.com/l/_JOuuaKuwj4ZR

B. Rs. 2400

C. Rs. 3600

D. Rs. 4800

Answer: C

o Watch Video Solution

6. In the year 2001, the price of article A is
20 % more than the price of article B. In the
year 2002, the price of article A is 50 % more

than the price of article B. From 2001 to 2002,


https://dl.doubtnut.com/l/_JOuuaKuwj4ZR
https://dl.doubtnut.com/l/_wlYOQqABIqrb

if the price of A has increased by 50 % by

what per cent has the price of B increased?

A.O

B.10

C. 20

D. 25

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_wlYOQqABIqrb

7. When the price of an article is increased by
15 % the number of articles aold decreases by
20 % What is the percentage change in the
sales revenue? (Sales revenue = piece of each

article X number of articles sold).

A.5 % increase

B.3 % decrease

C.8 % increase

D.8 % decrease

Answer: D


https://dl.doubtnut.com/l/_3y2ZvjGieOvR

° Watch Video Solution

8. The population of a town increases by 25 %
annually. If the present population is one
crore, then what was the difference between

the population 3 years ago and 2 years ago ?

o Watch Video Solution

9. Ravi has some money with him. He give

50 % of it to Rupa and 30% to Raje and


https://dl.doubtnut.com/l/_3y2ZvjGieOvR
https://dl.doubtnut.com/l/_vSBlb9iElyIS
https://dl.doubtnut.com/l/_zDjORKxSTZPL

60 % of the remaining was donated to a

charity. If he is still left with Rs. 8040, then the

money the initially had was

A. Rs. 100000

B. Rs. 100500

C. Rs. 101000

D. Rs. 101500

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zDjORKxSTZPL
https://dl.doubtnut.com/l/_2JmtdCld298D

10. The ratio of boys and girls in a class is
5:3.20 % of the boys and 60 % of the girls
have passed in first class. What percentage of

the class has passed in first class ?

A.35%

B.32 %

C.34 %

D.33 %

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_2JmtdCld298D

11. There are three quantities A, B and C. B is

2 , 2
16§ % less than A and C is 147 % more

than B. By wht per cent is A more than C?

A5
B.6
C.7

D.8

Answer: A

[ o Watch Video Solution


https://dl.doubtnut.com/l/_2JmtdCld298D
https://dl.doubtnut.com/l/_9ss9FtZAkviU

12. A's savings is 30 % less than B's savings, B's
savings is 20 % less than C's savings. By what
percentage is C's savings more than As

savings ?

2
A. 63? %

1
B. 52§ %

3
C. 643 %

4
D. 787 %

Answer: D


https://dl.doubtnut.com/l/_9ss9FtZAkviU
https://dl.doubtnut.com/l/_MM49RTa7lZE6

° Watch Video Solution

13. If 55 % of the teachers in a school are

gents and the number of lady teachers in the

school is 90, then the total number of techers

in the school is

A. 100

B. 150

C. 200

D. 250


https://dl.doubtnut.com/l/_MM49RTa7lZE6
https://dl.doubtnut.com/l/_YjPquR3wnZi3

Answer: C

o Watch Video Solution

14. The population of a city increased at the
rate of 20% every year for the last three
years. If the present population is 203904,
then what was the population of the city 3

years ago ?

A. 119000

B. 118000


https://dl.doubtnut.com/l/_YjPquR3wnZi3
https://dl.doubtnut.com/l/_kapMWYoTdOmk

C. 117000

D. 116000

Answer: B

o Watch Video Solution

15. The total expenditure of a family in 1920 is
Rs. 8,000. The cost of living indext for the year
1920 taking 1910 as the base year is 160. Then
the expenditure of the family in the year 1910

was


https://dl.doubtnut.com/l/_kapMWYoTdOmk
https://dl.doubtnut.com/l/_28nU0g5RLEzw

A.Rs. 3000

B. Rs. 4000

C. Rs. 5000

D. Rs. 6000

Answer: C

o Watch Video Solution

16. Kiran's salary was first incrased by 30 %

and then decreased by 30% . If the latest


https://dl.doubtnut.com/l/_28nU0g5RLEzw
https://dl.doubtnut.com/l/_MXoXeTF55WIy

salary is Rs. 2275. then what was the original

salary of Kiran?

A.Rs. 2275

B. Rs. 2425s

C. Rs. 2600

D. Rs. 2500

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_MXoXeTF55WIy

17. When the price of an article is increased by
p % , then quantity of sales decrease by 10 %

but sales revenue increases by 10 % Find p.
A. 20
B. 22—
2
C. 18—

11

D. 30

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ir0a0BnMFcwA

18. The total expenditure of a school on
certaion consumable items was found to be
Rs. 50650 in the year 1972. If the cost of living
index for the year 1975, taking 1972 as the base
year is 162.8, then the expenditure of the

school in 1975 is

A. Rs. 82458

B. Rs. 82458.20

C. Rs. 82458.40

D. None of these


https://dl.doubtnut.com/l/_oCSi5oZ8v6XS

Answer: B

o Watch Video Solution

19. If two number are in the ratio 1/3:1/2,

then by what percentage
number more than the first ?
A.50 %
1
B.37: %
1
C.333 %

D. 40 %

is the second


https://dl.doubtnut.com/l/_oCSi5oZ8v6XS
https://dl.doubtnut.com/l/_d8xTklGRAQKF

Answer: A

o Watch Video Solution

20. 40 % of M is 600 more than 25 % of M.

Find M.

A. 2000

B.3000

C. 4000

D. 5000


https://dl.doubtnut.com/l/_d8xTklGRAQKF
https://dl.doubtnut.com/l/_xfAu6P3FHQGf

Answer: C

o Watch Video Solution

21. A has 50 % more marbles than B. If A gives
40 marbles to B, then the difference of the
number of marbles with both will be 16. Find
the number of marbles with B.

A. 192

B. 128

C. Either (a) nor (b)


https://dl.doubtnut.com/l/_xfAu6P3FHQGf
https://dl.doubtnut.com/l/_cVE9YROau0yF

D. neither (a) nar (b)

Answer: C

o Watch Video Solution

22. There are three numbers. The first number
is 33§ % more than the second number and
50 % more than the third number. What
percentage of the third number is the second

number ?

A.107.5 %


https://dl.doubtnut.com/l/_cVE9YROau0yF
https://dl.doubtnut.com/l/_sPkyU4GvmGcW

B. 112.5%

C.117.5%

D.112.5%

Answer: B

o Watch Video Solution

23. In a class, the ratio of the number of boys

to that of the firls is 11:9.30 % of the boys
and 20% of the girls passed. Find the

percentage of passed students of the class.


https://dl.doubtnut.com/l/_sPkyU4GvmGcW
https://dl.doubtnut.com/l/_kpuAIhY4EBkU

A. 23.5 %

B.24.5 %

C.28.5%

D.122.5 %

Answer: D

° Watch Video Solution

24. The price of rice dropped by 25% As a

result Sita was able to buy 5 kg more rice for


https://dl.doubtnut.com/l/_kpuAIhY4EBkU
https://dl.doubtnut.com/l/_zn3C5cvXY1jg

Rs.240. Find the original price of rice (in

Rs./kg).

A.16

B.18

C.15

D. 20

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_zn3C5cvXY1jg

25. The students of a class wrote an exam.
20 % of the boys and 30 % of the girls failed

in it. The number of boys who passed in it was
30 more than that of girls. A total of 74
students failed in it. Find the strength of the
class.

A. 280

B.300

C.320

D. 260


https://dl.doubtnut.com/l/_prdwf8DmLcSH

Answer: B

o Watch Video Solution

1. In March Rohan's monthly expenditure was
90 % of his monthly income. His monthyl
income increased by 30 % and his monthly
expenditure increased by 20%  when
compared to the previous month. Find the

percentage increase in his montly savings.


https://dl.doubtnut.com/l/_prdwf8DmLcSH
https://dl.doubtnut.com/l/_5IqUMpmvKq8B

A. 130 %

B.120 %

C.110 %

D. 125 %

Answer: B

o Watch Video Solution

2. In the year 2000, rice formed 20 % of the
total food grain production in a country. In the

next year, the total food grain production


https://dl.doubtnut.com/l/_5IqUMpmvKq8B
https://dl.doubtnut.com/l/_FU4oiPZNUp1f

increased by 20 % and the rice production
was 25 % of the total food grain production.
What is the increase in the production of rice

from 2000 to 20017

A. 25 %
B.50 %
C.40 %

D. 30 %

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_FU4oiPZNUp1f

3. In school X, the number of boys is more
than that of the girls by 40 % . In school Y, the
number of girls is more than that of boys by
50% . If 50 % boys in school X is equal to
70 % of girls in school Y, what is the ratio
between the number of students of school X

and School Y?

A.24:25

B.16:174

C.3:4


https://dl.doubtnut.com/l/_FU4oiPZNUp1f
https://dl.doubtnut.com/l/_mgkCv3E8vP4D

D. 36: 25

Answer: D

o Watch Video Solution

The cost of living indext for the year 2004
considering the base year as 2005 is Rs. 120.

Find P.

A. 36


https://dl.doubtnut.com/l/_mgkCv3E8vP4D
https://dl.doubtnut.com/l/_TgsKTXHg7aVF

B.40

C.45

D. 50

Answer: B

o Watch Video Solution

5. A manufacturer purchases a second hand
machine for Rs. 60000 and spends some
amount towards repairs thane its vaue goes

up to Rs. 90000. If depreciation is 10 % per


https://dl.doubtnut.com/l/_TgsKTXHg7aVF
https://dl.doubtnut.com/l/_0rr26ML04iNK

annum, what will be the value of the machine

after two years ?

A. Rs. 48600

B. Rs. 81000

C.Rs. 67200

D. Rs. 72900

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0rr26ML04iNK

6. The proce of an article increased
successively over three consecutive weeks. It
increased by 10 % in the first week, 20 % in
the second week and 25 % in the third week.
Find the effective percentage increase in its

price after three weeks.

A. 55 %

B. 65 %

C.50 %

D. 60 %


https://dl.doubtnut.com/l/_CO2bs3Ealv1D

Answer: B

o Watch Video Solution

7. The ratio of the incomes of Pand Q is 5: 4.

The ratio of their expenditure is 4:3 The
2

savings of P more then that of Q by 163 % .

What percentage of his income does P spend ?

2
A. 52§ %

1
B. 53§ %

1
C. 54§ %


https://dl.doubtnut.com/l/_CO2bs3Ealv1D
https://dl.doubtnut.com/l/_XAVs4ioc3h3h

2
D.51—
53%

Answer: B

o Watch Video Solution

Test Your Concepts Very Short Answer Type

Questions

1. Express 25 % as a decimal

° Watch Video Solution



https://dl.doubtnut.com/l/_XAVs4ioc3h3h
https://dl.doubtnut.com/l/_gv8rl9uSg4Fc
https://dl.doubtnut.com/l/_P2tn34dSlr3T

2. Express o5 as per cent.

° Watch Video Solution

3.50% of 200

° Watch Video Solution

4. Express 20 % as a fraction

° Watch Video Solution



https://dl.doubtnut.com/l/_P2tn34dSlr3T
https://dl.doubtnut.com/l/_gOXhqQDul7uY
https://dl.doubtnut.com/l/_KJpeVnvhffLX
https://dl.doubtnut.com/l/_ueyoeuByejuH

, 3
5. What percentage is equal to 3 ?

° Watch Video Solution

6. What per cent of 52 kg is 26 kg?

° Watch Video Solution

7. What per cent of 1 litre is 200 ml

° Watch Video Solution



https://dl.doubtnut.com/l/_ueyoeuByejuH
https://dl.doubtnut.com/l/_hIlZwivgRp9F
https://dl.doubtnut.com/l/_ZIle9qfJcc5e
https://dl.doubtnut.com/l/_csJETeh9W0GD

8. If 5% of a number is 6, then

percentage of that number s 1?7

what

o Watch Video Solution

9.1f 2 % of x is 20, then x=

o Watch Video Solution

10.z % ofyis equal to y % of x.

o Watch Video Solution



https://dl.doubtnut.com/l/_csJETeh9W0GD
https://dl.doubtnut.com/l/_K0adtE4nQspR
https://dl.doubtnut.com/l/_JDpG0utpEC6y

3 3
miIf (gofx) % iSZ’ then find x.

o Watch Video Solution

12. If xX% of 250 is 200, then x=..............

o Watch Video Solution

1B. a%(b+c) is equal to b% of(a + b).

(True/False)

| s


https://dl.doubtnut.com/l/_JDpG0utpEC6y
https://dl.doubtnut.com/l/_87AUoBcwGfzC
https://dl.doubtnut.com/l/_A8M8hRxWPw8U
https://dl.doubtnut.com/l/_cnoY6b0vGLoM

¥ Watch Video Solution ]

14.1f X is 30 % of Zand Y is 60 % of Z, then X

is what percentage of Y?

o Watch Video Solution

15.20 % ofz + 25 % 0f20 = 25040, find x.

o Watch Video Solution



https://dl.doubtnut.com/l/_cnoY6b0vGLoM
https://dl.doubtnut.com/l/_faFh6kExeqtw
https://dl.doubtnut.com/l/_QQUXFxEo1V0o

16. If | am 10 % taller whan you, then you are

10 % shorter than me. (True/False)

° Watch Video Solution

17. In a class there are 16 girls out of 40
students in total. Girls as a percentage of total

students are

° Watch Video Solution



https://dl.doubtnut.com/l/_ngcvUQ4c5Sxf
https://dl.doubtnut.com/l/_0HXGBVevcrOJ

18.1f (0.15 x z) is equal to 12.5% of 3, then

find x.

o Watch Video Solution

19.1f a is 2 times of b, then b is 100 % more
than a.

(True /False)

o Watch Video Solution



https://dl.doubtnut.com/l/_Qgl1QGkJaXaS
https://dl.doubtnut.com/l/_llav2R8cTqTW

20. Saving 20 % of your pocket mony of Rs. C
means spending 80 % of your pocket money
of Rs. X?

(Rtue/ False)

° Watch Video Solution

21. The enroment of members in a club
increased from 500 to 550, Find the

percentage increase in enorlment.

° Watch Video Solution



https://dl.doubtnut.com/l/_tfEZ63ntSO9p
https://dl.doubtnut.com/l/_Bq90wkbjfU63

22.The price of an article is increased twice in
succession, each by 10%. The result is

% increase.

o Watch Video Solution

23. If z:y=3:4, then x is 60% of y.

(True/False)

o Watch Video Solution



https://dl.doubtnut.com/l/_Bq90wkbjfU63
https://dl.doubtnut.com/l/_7CZrgs7wRQ3z
https://dl.doubtnut.com/l/_XnHt3daMU4Y5
https://dl.doubtnut.com/l/_e1AAI0CgxpmD

24. Last year Mohit's computer fee was 10 %
of his total school fees. This year Mohit's
comouter fee is 15 % of his total school fees.
There is a 5% increase in Mohit's computer
fees this year when copared to that of last

year. (Ture/Cannot say)

o Watch Video Solution

25. If my marks in maths are less than your

markes in Maths by 20 % then your marks in


https://dl.doubtnut.com/l/_e1AAI0CgxpmD
https://dl.doubtnut.com/l/_1I8qZfqmpP18

Maths are 25% more than my marks in

Maths. (True/False)

° Watch Video Solution

26. The price of wheat has increased by 12%.
Find the reduction in consumption so that

there is no change in the expenditure.

° View Text Solution



https://dl.doubtnut.com/l/_1I8qZfqmpP18
https://dl.doubtnut.com/l/_qq240PCQiL1k

27.1f 20 % of the student in a school are girls
and the number of boys is 3060, then find the

total strength of the school.

o Watch Video Solution

28.In an examination, x and y secured 732 and
864 marks respectively. If y secured 72 %
marks then find the percentage of marks

secured by x.

° Watch Video Solution



https://dl.doubtnut.com/l/_FTr7FvW4Q6WS
https://dl.doubtnut.com/l/_ZnIjvUQsSMBc

29.If A:B=4:6 and B:C = 3.4, then by

what percentage is C more than A.

o Watch Video Solution

Test Your Concepts Short Answer Type Questions

1. In an examination, Salim secured 52 %
marks and got 114 marks more than the pass
marks and A zam secured 39 % marks and got

36 marks more than the pass mark. Find


https://dl.doubtnut.com/l/_ZnIjvUQsSMBc
https://dl.doubtnut.com/l/_KanrPbsWfmTn
https://dl.doubtnut.com/l/_D8mLshX98dcv

(@) The pass mark.

(b) The pass percentage.

° Watch Video Solution

2. A venor puchased some spples, out of which
6 % were rotten. If the number of rotten
apples was 51, then how many apples did he

buy ?

o Watch Video Solution



https://dl.doubtnut.com/l/_D8mLshX98dcv
https://dl.doubtnut.com/l/_x8r2cvv5xRdR

3. In an election only two candidates Ram and
Shyam contested, Ram got 75 % of the total
valid votes. 6 % of the polled votes were
declared invalid. If 64200 votes were polled,
then find the number of valid votes polled in

favour of Shyam.

o Watch Video Solution

4. If Ais 20% more than C and B is 60 %1

more than C, then A’ is what percentage of B?

| & |


https://dl.doubtnut.com/l/_hyHRnlSzh95J
https://dl.doubtnut.com/l/_lcqhQ5qCdBLK

| ¥ Watch Video Solution |

5. What fraction is equal to 5 %?

o Watch Video Solution

6. A number when increased by 40 % becomes

42.What is the number ?

° Watch Video Solution



https://dl.doubtnut.com/l/_lcqhQ5qCdBLK
https://dl.doubtnut.com/l/_sByDoJv8hf7o
https://dl.doubtnut.com/l/_DPMB95zWbSfl

7. A had Rs. 160n and B had Rs 140. A spent
20 % and B spent 30 % of the money they

had. Who spent more money ?

o Watch Video Solution

8. Due to a rise of 12% in the price of
mangoes a dealer gets 27 kg less for Rs. 24750.
Find

(@) The new price per kg of mangoes.


https://dl.doubtnut.com/l/_E60RfnuFkUts
https://dl.doubtnut.com/l/_mNS6yJBqRwiU

(b) The orginal price per kg of mangoes

(approximately).

° Watch Video Solution

9. 175 litres of a solution contains 88 % of acid
and the rest water. How many liters of water
must be added such that the resulting mixture

contains 23 % of water ?

o Watch Video Solution



https://dl.doubtnut.com/l/_mNS6yJBqRwiU
https://dl.doubtnut.com/l/_HQ3zMXAdwCjb

10. A's weight is 20 % more than B's weight,
whose weight is 30 % more than C's weitht.
Than A's weight is '50% more than C's weight.

Verify.

o Watch Video Solution

11. Given are there numbers. If the second and
the third numbers respectively are 25 % and
50% more than the first, then what

percentage of the second is the third ?

| & I


https://dl.doubtnut.com/l/_BBWTZ5y6173T
https://dl.doubtnut.com/l/_EA76X9oTroOl

| ¥ Watch Video Solution |

1
12. If 335 % of an AC ticket fare is equal to

2
665 of a non-AC ticket fare, then what

percentage of AC ticket fare is equal to non-AC

ticket fare ?

o Watch Video Solution

13. Ravi earned a sum of Rs. 10800 and
donated 40 % of it to charity. He give 15 % of

the remaining amount to Ramu. After giving


https://dl.doubtnut.com/l/_EA76X9oTroOl
https://dl.doubtnut.com/l/_fJnGXyPNUn6g
https://dl.doubtnut.com/l/_vHfwXJNAmsqU

25 % of the remaining amount to Anitha, he
deposited the rest in a bank. How much money

did he deposit in the bank?

o Watch Video Solution

14. The manufacturing cost of 10 articles is Rs.
150 Tax on each article is 6% of the
manufacturing cost. Transportation cost
comes to Re. 1 per articles. By what per cent is
the total cost more than the manufacturing

cost ?

| e |


https://dl.doubtnut.com/l/_vHfwXJNAmsqU
https://dl.doubtnut.com/l/_EfLgzzqsErsk

& Watch Video Solution I

15.1f £ % of 25 is equal to y % of 15 and y %
of 15 is equal to 25% of 20, then find the

value of x.

° Watch Video Solution

16. Rohan and Sohan earn salaries which are in
the ratio of 3:4 respectively. Sohan saves
11 % of his salary and Rohan saves 18 % of

his salary. If Sohan seves Rs.2310, then find


https://dl.doubtnut.com/l/_EfLgzzqsErsk
https://dl.doubtnut.com/l/_RMC8gEiucshs
https://dl.doubtnut.com/l/_KHwc7TlDJ3oF

(a) The savings of Rohan

(b) The sum of the salaries of both

° Watch Video Solution

Test Your Concepts Essay Type Questions

1. A total of 1100 votes were polled in a school
election for a school head boy. Among three
contestants, the first secured 25% votes
more than the second and the third secured

300 votes less then the first. By what per cent


https://dl.doubtnut.com/l/_KHwc7TlDJ3oF
https://dl.doubtnut.com/l/_h7fsvoz8nXmV

of votes was the third contestant defecated by

the first contestant?

° Watch Video Solution

2. A basket contains apples, guravs and
organs. The number of guavas is 60 % more
than that of apples and the number of
oranges is 12.5 % less than that of Guaves. If
the total number of these fruits is 80, then

find the number of oranges.

° Watch Video Solution



https://dl.doubtnut.com/l/_h7fsvoz8nXmV
https://dl.doubtnut.com/l/_AwH3gFYxzjqZ

3. The price of a refrigetor, P is 5 times that of
a cooler Q. If then price of P increases by
40 % . then what is the change in the total
price of the refrigerator and cooler put

together ?

o Watch Video Solution

4. Raje gave 20% of his incomr to his
daughter, 40 % of the remaining to his first

son, 30 % of the remaining to his second son


https://dl.doubtnut.com/l/_AwH3gFYxzjqZ
https://dl.doubtnut.com/l/_PlpAyDSq9sAD
https://dl.doubtnut.com/l/_b708EOyXn7rh

finally the remaining Rs 12600 was donated to

a charitable trust. Find Raje's income.

° Watch Video Solution

5. A shopkeeper sold certain articles. Cost

price of each article and the number of articles

sold are given below
Item Quantity Cost Price Per Article (in 7)
Sold 1996 2006
Fans 1000 450 oL
Reefrigerators 50 B (LT
Sofa set 130 S0 R W
Coolers 190 S SMM}

Calculate the cost of living index for the year

2006 taking 1999 as the base year (approx).


https://dl.doubtnut.com/l/_b708EOyXn7rh
https://dl.doubtnut.com/l/_uTa3BsI4sZL6

° View Text Solution

Concept Application Level 1

1. The numer of enrolments in a school has

increased from 1800 to 2016. The percentage

increase in the enrolments is

A. 0.1

B. 0.11

C.0.12


https://dl.doubtnut.com/l/_uTa3BsI4sZL6
https://dl.doubtnut.com/l/_b2NUVlpqyqXd

D.0.13

Answer: C

° Watch Video Solution

2. The price of a commodity is increased by
40 % By what per cent should a consumer
reduce his consumption so that his
expenditure on the commodity remains

constant ?

4
A. 257 %


https://dl.doubtnut.com/l/_b2NUVlpqyqXd
https://dl.doubtnut.com/l/_msxS7vxzixuF

Answer: D

o Watch Video Solution

3. If Ram's salary went up by 25 % then by
what percent should it by brought down to

bing it to its initial value ?


https://dl.doubtnut.com/l/_msxS7vxzixuF
https://dl.doubtnut.com/l/_Hpkssaeb5t2e

A.0.25

B.0.2

C.0.3333

D. 0.375

Answer: B

° Watch Video Solution

4. A number, when decreased by 20%

becomes 136. What is the number ?


https://dl.doubtnut.com/l/_Hpkssaeb5t2e
https://dl.doubtnut.com/l/_4seugkHRkwpQ

A. 160

B. 150

C.170

D. 140

Answer: C

o Watch Video Solution

5.1f 60 % of K is 30 less than 75 % of K, then

what is the value of K ?


https://dl.doubtnut.com/l/_4seugkHRkwpQ
https://dl.doubtnut.com/l/_Ek2g1cUMQv2g

A5

B.3

C.400

D. 200

Answer: D

° Watch Video Solution

6. The length of a reactangle is increased by

10 % while its breadth is decreased by 10 % .


https://dl.doubtnut.com/l/_Ek2g1cUMQv2g
https://dl.doubtnut.com/l/_ioAFVdA43syd

what is the consequent percentage change in

the area of the reactangle ?

A. 1% increase

B. 10% increase

C. 10% decrease

D. 1% decrease

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ioAFVdA43syd

7. In an examination, Ramu and Raje secured
783 marks and 684 marks respectively. If Ramu
secured 87 % marks, then the percentage of
marks secured by Raje is :

A.0.75

B.0.76

C.0.77

D. 0.78

Answer: B

‘ ° Wiadk lh \AAA CAaliikianm



https://dl.doubtnut.com/l/_6Gj0JloUwz0O
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8. In an examination, Ramesh secured 574

marks and Rekha secured 76 % of the total

marks. If Ramesh secured 82 % of the total

marks, the difference in their marks is

A.40

B. 41

C.42

D. 43


https://dl.doubtnut.com/l/_6Gj0JloUwz0O
https://dl.doubtnut.com/l/_vXqmu0i8Si9J

Answer: C

o Watch Video Solution

9. By what per cent will the area f a square

change if its side is increased by 10 % ?

A. 10% increase

B.20% increase

C. 10% decrease

D. 21% increase


https://dl.doubtnut.com/l/_vXqmu0i8Si9J
https://dl.doubtnut.com/l/_mbWjKzdkVVaZ

Answer: D

o Watch Video Solution

10. The propulation of a city increases by 30 %
every year. If the persent populatio is 338000,
then what was the population of the city of
two years ago ?

A. 300000

B. 250000

C. 200000


https://dl.doubtnut.com/l/_mbWjKzdkVVaZ
https://dl.doubtnut.com/l/_nGpo9dksQlZZ

D. 240000

Answer: C

° Watch Video Solution

1. As expenditure is 20% more than B's
expenditure. B's expenditure is 30 % less then
'C's expenditure. By what percentage is As

expenditure less than C's expenditure ?

A.0.16


https://dl.doubtnut.com/l/_nGpo9dksQlZZ
https://dl.doubtnut.com/l/_SkXL0t4tGwqt

B.0.12

C.0.14

D. 0.18

Answer: A

o Watch Video Solution

12. Two numbers x and vy, are in the ratio

5 3
5 : 1 By what per cent is x more than y ?

A. 0.1


https://dl.doubtnut.com/l/_SkXL0t4tGwqt
https://dl.doubtnut.com/l/_G36LsWbj3TPc

B. 0.0909

C.0.125

D. 01111

Answer: D

o Watch Video Solution

13.Ramu save 14 % of his salary while Ramesh
saves 24 % . If both get equal salaries and
Ramesh save Rs. 1440, then Ramu's

expenditure is


https://dl.doubtnut.com/l/_G36LsWbj3TPc
https://dl.doubtnut.com/l/_wG29Yikj81Hz

A. 5000

B. 5160

C. 6000

D. 7440

Answer: B

o Watch Video Solution

14.The side of square ABD is 20 % longer than
the side of square PQRS. By what percentage is

the area of ABCD more than the area of PQRS?


https://dl.doubtnut.com/l/_wG29Yikj81Hz
https://dl.doubtnut.com/l/_QGffZWGV25yd

A.0.2

B.0.24

C.04

D. 044

Answer: D

o Watch Video Solution

15. Only two candidates A and B contested in
an election. In the total of 20000 votes 10 %

were invalid. A won the election by 3600 votes.


https://dl.doubtnut.com/l/_QGffZWGV25yd
https://dl.doubtnut.com/l/_696Jb9OsekWv

What percent age of valid votes is secured by

B?

A.045

B.04

C.03

D. 0.35

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_696Jb9OsekWv

16. Raje's salary was first increased by 10 %
then decreased by 20 % If the latest salary is
'Rs 17600, then find his orginal salary.

A. 150

B. 100

C. 200

D. 180

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_P76rxxYkoM0M

17.1f Ais 50 % more than B, then B is less than
A by

A.337 %

B.0.25

C.0.5

D. 663 %

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_h2kBWCe4gOhA
https://dl.doubtnut.com/l/_EU5mBWPYkiu3

18. Jacob and Mohan same 20 % and 40 % of
their respective incomes. If their expenditure
is equal, then what is the ratio of the incomes
of Mohan and Jacob?

Al:2

B.3:4

C.2:1

D.4:3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_EU5mBWPYkiu3

19. There are 3 numbers. The first and second
numbes are 20% and 40 % more than the
third number. What percentage is the first
number of the sum of the second and the
third numbers ?

A. 0.25

B.0.5

C.0.3

D.04


https://dl.doubtnut.com/l/_EU5mBWPYkiu3
https://dl.doubtnut.com/l/_tSxTDTAktsU4

Answer: B

o Watch Video Solution

20. Three commodities, their consumption,

and their prices in the years 1985 and 1990 are

listed below
Commodity Consumption Price in 1985
(im 7/ kg)
Rigce 90 kg 1-4.00 18,00
Wheat 150 kg 9.00 9.48

Tea kg T5.00 10

The cost of living index for the year 1990

taking 1985 as the base year is equal to.............


https://dl.doubtnut.com/l/_tSxTDTAktsU4
https://dl.doubtnut.com/l/_BPskxRDva444

A. 100

B. 10

C. 120

D. 130

Answer: C

° View Text Solution

21. If the area of reatangle is increased by

13 % and its breadth is increased by 5%,


https://dl.doubtnut.com/l/_BPskxRDva444
https://dl.doubtnut.com/l/_94AykzBuJPYX

then what is the percentage increase in its

length? (Approximately)

A. 0.1

B. 0.08

C.0.18

D. 0.12

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_94AykzBuJPYX

22. A man donated 6 % of his income to a
charity and deposited 20 % of the rest in a
bank. If he is left with Rs. 14,100, then his

income is

A. 18000
B. 18250
C. 18500

D. 18750

Answer: D

‘ o Wiak hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_iP9s6xG4rA05
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23. madhav's salry is first increased by = %

and then decreased by x % . As a result his

2

x
salary is decreased by 100 % Comment.

A. True
B. False
C. Cannot be determined

D. None of these

Answer: A

| |


https://dl.doubtnut.com/l/_iP9s6xG4rA05
https://dl.doubtnut.com/l/_9IX7jGNDOdv0

| & Watch Video Solution

24. The quantities consumed and the cost per
kg of the commodities for the years 1986 and

1995 are given in the table below:

Item

Qucnﬁlkaonsumed -~ Costperkg(in3)
(ka) in 1986 n 1995

Butter 16 30 50
Sugar 4 10 16
Tea 8 80 100
Rice 15 18 20

The cost of living indext for the year 1995

taking 1986 as the base year is equal to

A.1.39


https://dl.doubtnut.com/l/_9IX7jGNDOdv0
https://dl.doubtnut.com/l/_elKRZr2Y1Mbj

B. 1.3975

C. 1395

D. 1.3925

Answer: B

o Watch Video Solution

25. The price of an article increases by
10%,15% and 20% in 3 consecutive
weeks. What is the appeoximate overall

percentag increase for the 3 weeks ?


https://dl.doubtnut.com/l/_elKRZr2Y1Mbj
https://dl.doubtnut.com/l/_5h2MkW26BcGl

A.045

B. 0.62

C.0.35

D. 0.52

Answer: D

o Watch Video Solution

26.1f X is 30 % of Zand Y is 60 % of Z, then X

is what percentage of Y?


https://dl.doubtnut.com/l/_5h2MkW26BcGl
https://dl.doubtnut.com/l/_Gwsj29tWWOoh

A.03

B.0.5

C.1

D. 0.6

Answer: B

° Watch Video Solution

27. What per cent of 150 is 457

A.0.2


https://dl.doubtnut.com/l/_Gwsj29tWWOoh
https://dl.doubtnut.com/l/_ToH3UfbY6Osy

B.0.3

C.0.6

D. 0.135

Answer: B

o Watch Video Solution

28. If 20% of 30% of a certain number is

3000, find the number.

A. 40000


https://dl.doubtnut.com/l/_ToH3UfbY6Osy
https://dl.doubtnut.com/l/_iVrWL2YabPYr

B. 80000

C. 50000

D. 75000

Answer: C

o Watch Video Solution

Concept Application Level 2

1. A reductin of 10 % in the price of an article

enables a dealer to purchase 25 articles more


https://dl.doubtnut.com/l/_iVrWL2YabPYr
https://dl.doubtnut.com/l/_kF0f7T33HLZ2

for Rs. 45000. What is the original price of the

article ?

A.100

B. 150

C. 200

D. 250

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_kF0f7T33HLZ2

2. The percentag increases in the total number
of students of a school over that in the

previous year.

1999-2000 20%

2000-2001 30%
2001-2002 10%

Find the effective percentage increase in the

number of students from 1998-1999 to 2000-

2001.

A.0.316

B.0.72


https://dl.doubtnut.com/l/_wdSBaoZe8Pwf

C.0.62

D. 0.82

Answer: B

o Watch Video Solution

3. A solution of 165 litres contains 80 % of
acid and the rest water. How much water must
be added to the above solution such that the

resulting mixture contains 25 % water ?


https://dl.doubtnut.com/l/_wdSBaoZe8Pwf
https://dl.doubtnut.com/l/_zIuxg7A4dtwZ

A. 11 litres

B. 8 litres

C. 9 litres

D. 10 litres

Answer: A

o Watch Video Solution

4. Laxma save 10 % more than his expenditure
and Bhuwan spends 10% more than his

savings. If Laxman's saving is 10 % more than


https://dl.doubtnut.com/l/_zIuxg7A4dtwZ
https://dl.doubtnut.com/l/_U8HEdtqY4RUp

Bhuwans' expenditure, what is the ratio of

incomes of Laxman and Bhuwan?

A.9:10

B.100: 99

C.10:11

D.11:10

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_U8HEdtqY4RUp

5. Madan spends 50 % of his income on house
hold expenditure and 60 % of the remaining
on personal expenditure. Of the remaining, he
pays 50 % towards income tax and saves the
reamining Rs. 1200. What is the personal

expenditure of Madan?

A. 1800

B. 2400

C. 3600

D. 4800


https://dl.doubtnut.com/l/_Pfd35HSDbOPB

Answer: C

° Watch Video Solution

6. In the year 2001, the price of article A is
20 % more than the price of article B. In the
year 2002, the price of article A is 50 % more
than the price of article B. From 2001 to 2002,
if the price of A has increased by 50 % by

what per cent has the price of B increased?

A.O


https://dl.doubtnut.com/l/_Pfd35HSDbOPB
https://dl.doubtnut.com/l/_nwEFzAhZIFJR

B.10

C. 20

D. 25

Answer: C

o Watch Video Solution

7. When the price of an article is increased by
15 % the number of articles aold decreases by

20 % What is the percentage change in the


https://dl.doubtnut.com/l/_nwEFzAhZIFJR
https://dl.doubtnut.com/l/_GxJMrpaC7kD7

sales revenue? (Sales revenue = piece of each

article X number of articles sold).

A. 5% increase

B. 3% decrease

C.8% increase

D. 8% decrease

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_GxJMrpaC7kD7

8. The population of a town increases by 25 %
annually. If the present population is one
crore, then what was the difference between
the population 3 years ago and 2 years ago ?
A. 2500000
B. 1280000

C. 1560000

D. 2000000

Answer: B

‘ ° Wiak lh \AAA CAaliikianm



https://dl.doubtnut.com/l/_noxGniWdQtIS
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9. Ravi has some money with him. He give
50 % of it to Rupa and 30% to Raje and
60 % of the remaining was donated to a
charity. If he is still left with Rs. 8040, then the

money the initially had was

A. 100000

B. 100500

C. 101000

D. 101500


https://dl.doubtnut.com/l/_noxGniWdQtIS
https://dl.doubtnut.com/l/_cHYLF28NSUvP

Answer: B

o Watch Video Solution

10. The ratio of boys and girls in a class is
5:3.20 % of the boys and 60 % of the girls
have passed in first class. What percentage of
the class has passed in first class ?

A.0.35

B.0.32

C.0.34


https://dl.doubtnut.com/l/_cHYLF28NSUvP
https://dl.doubtnut.com/l/_Prr6xrV6rnxD

D. 0.33

Answer: A

° Watch Video Solution

11. There are three quantities A, B and C. B is
2 , 2

16§ % less than A and C is 147 % more

than B. By wht per cent is A more than C?

A5

B.6


https://dl.doubtnut.com/l/_Prr6xrV6rnxD
https://dl.doubtnut.com/l/_yWEvOi6kDoWs

C.7

D.8

Answer: A

o Watch Video Solution

12. A's savings is 30 % less than B's savings, B's
savings is 20 % less than C's savings. By what
percentage is C's savings more than As

savings ?


https://dl.doubtnut.com/l/_yWEvOi6kDoWs
https://dl.doubtnut.com/l/_wVVprr7ZIXXW

A. 63— %

B.52— %

C.64— %

D. 78— %

Answer: D

o Watch Video Solution

13. If 55 % of the teachers in a school are

gents and the number of lady teachers in the


https://dl.doubtnut.com/l/_wVVprr7ZIXXW
https://dl.doubtnut.com/l/_yJzqjkMw26zC

school is 90, then the total number of techers

in the school is

A. 100

B. 150

C. 200

D. 250

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_yJzqjkMw26zC

14. The population of a city increased at the
rate of 20% every year for the last three
years. If the present population is 203904,
then what was the population of the city 3
years ago ?

A. 1190

B. 1180

C. 1170

D. 1160

Answer: B


https://dl.doubtnut.com/l/_zqH6Q2nUoakU

o Watch Video Solution

15. The total expenditure of a family in 1920 is
Rs. 8,000. The cost of living indext for the year
1920 taking 1910 as the base year is 160. Then
the expenditure of the family in the year 1910

was

A.3000

B.4000

C. 5000


https://dl.doubtnut.com/l/_zqH6Q2nUoakU
https://dl.doubtnut.com/l/_K00JSijqhh0n

D. 6000

Answer: C

° Watch Video Solution

16. Kiran's salary was first incrased by 30 %
and then decreased by 30% . If the latest
salary is Rs. 2275. then what was the original

salary of Kiran?

A. 2275


https://dl.doubtnut.com/l/_K00JSijqhh0n
https://dl.doubtnut.com/l/_VvZOWmkWIKpA

B. 2425

C. 2600

D. 2500

Answer: D

o Watch Video Solution

17. When the price of an article is increased by
p % , then quantity of sales decrease by 10 %

but sales revenue increases by 10 % Find p.


https://dl.doubtnut.com/l/_VvZOWmkWIKpA
https://dl.doubtnut.com/l/_PKIa8uvjqL8V

A. 20

B.22—
2

C.18—

11

D. 30

Answer: B

o Watch Video Solution

18. The total expenditure of a school on
certaion consumable items was found to be

Rs. 50650 in the year 1972. If the cost of living


https://dl.doubtnut.com/l/_PKIa8uvjqL8V
https://dl.doubtnut.com/l/_uGdZFTHop7zp

index for the year 1975, taking 1972 as the base

year is 162.8, then the expenditure of the

school in 1975 is

A. 82458

B. 82458.2

C. 824584

D. 82458.1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_uGdZFTHop7zp
https://dl.doubtnut.com/l/_Yya8h7GyljPo

19. If two number are in the ratio 1/3:1/2,
then by what percentage is the second
number more than the first ?
A.0.5
B.372 %
1
C.333 %

D. 40 %

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Yya8h7GyljPo
https://dl.doubtnut.com/l/_7sLvuxOdrepn

20. 40 % of M is 600 more than 25 % of M.

Find M.

A. 2000

B.3000

C. 4000

D. 5000

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_7sLvuxOdrepn
https://dl.doubtnut.com/l/_5bDX2SIzF7sU

21. A has 50 % more marbles than B. If A gives
40 marbles to B, take the difference of the
number of marbles with both will be 16. Find
the number of marbles with B.

A. 192

B.128

C.127

D. 190

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5bDX2SIzF7sU

22. There are three numbers. The first number
1

is 3335 % more than the second number and
50 % more than the third number. What
percentage of the third number is the second
number ?

A. 1.075

B.1.125

C.1.175

D. 1.225


https://dl.doubtnut.com/l/_5bDX2SIzF7sU
https://dl.doubtnut.com/l/_VZpdvLNdNMjs

Answer: B

o Watch Video Solution

23. In a class, the ratio of the number of boys

to that of the firls is 11:9.30 % of the boys

and 20% of the girls passed. Find the

percentage of passed students of the class.
A.0.235

B.0.245

C.0.285


https://dl.doubtnut.com/l/_VZpdvLNdNMjs
https://dl.doubtnut.com/l/_royszOsnr1W6

D. 0.255

Answer: D

° Watch Video Solution

24. The price of rice dropped by 25% As a
result Sita was able to buy 5 kg more rice for

Rs.240. Find the original price of rice (in

Rs./kg).

A.16


https://dl.doubtnut.com/l/_royszOsnr1W6
https://dl.doubtnut.com/l/_yM2KTKb1cOhG

B.18

C.15

D. 20

Answer: A

o Watch Video Solution

25. The students of a class wrote an exam.
20 % of the boys and 30 % of the girls failed
in it. The number of boys who passed in it was

30 more than that of girls. A total of 74



https://dl.doubtnut.com/l/_yM2KTKb1cOhG
https://dl.doubtnut.com/l/_w6AmXnNbnOyV

students failed in it. Find the strength of the

class.

A. 280

B.300

C.320

D. 260

Answer: B

° Watch Video Solution

Concept Application Level 3


https://dl.doubtnut.com/l/_w6AmXnNbnOyV

1. In March Rohan's monthly expenditure was
90 % of his monthly income. His monthyl
income increased by 30% and his monthly
expenditure increased by 20%  when
compared to the previous month. Find the

percentage increase in his montly savings.

A 13

B.1.2

C. 1.

D. 1.25


https://dl.doubtnut.com/l/_kCbsbBhHa1c3

Answer: B

o Watch Video Solution

2. In the year 2000, rice formed 20 % of the
total food grain production in a country. In the
next year, the total food grain production
increased by 20% and the rice production
was 25 % of the total food grain production.
What is the increase in the production of rice

from 2000 to 20017


https://dl.doubtnut.com/l/_kCbsbBhHa1c3
https://dl.doubtnut.com/l/_cKoL1XxQsBhV

A.0.25

B.0.5

C.04

D.0.3

Answer: B

o Watch Video Solution

3. In school X, the number of boys is more
than that of the firls by 40 % . In school Y, the

number of girls is more than that of boys by


https://dl.doubtnut.com/l/_cKoL1XxQsBhV
https://dl.doubtnut.com/l/_jhSGTt36EG4a

50% . If 50 % boys in school X is equal to
70 % of girls in school Y, what is the ratio
between the number of students of school X
and School Y?

A. 24:25

B.16:17

C.3:4

D.36:25

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_jhSGTt36EG4a

Commodity » G?ﬂﬂﬁi‘y o __ Roteperkg(in?) .
finkg] _Base year 2005 Current year 2007
50 17 * 20

10 50 60

N < X

4,
The cost of living indext for the year 2004
considering the base year as 2005 is Rs. 120.
Find P.

A. 36

B.40

C.45

D. 50


https://dl.doubtnut.com/l/_jhSGTt36EG4a
https://dl.doubtnut.com/l/_rxlcAQ2y2WLs

Answer: B

o Watch Video Solution

5. A manufacturer purchases a second hand
machine for Rs. 60000 and spends some
amount towards repairs thane its vaue goes
up to Rs. 90000. If depreciation is 10 % per
annum, what will be the value of the machine

after two years ?

A. 48600


https://dl.doubtnut.com/l/_rxlcAQ2y2WLs
https://dl.doubtnut.com/l/_OdGeynjuZLs5

B. 81000

C. 67200

D. 72900

Answer: D

o Watch Video Solution

6. The proce of an article increased
successively over three consecutive weeks. It
increased by 10 % in the first week, 20 % in

the second week and 25 % in the third week.


https://dl.doubtnut.com/l/_OdGeynjuZLs5
https://dl.doubtnut.com/l/_IjZ9yJdsoEem

Find the effective percentage increase in its

price after three weeks.

A. 0.55

B. 0.65

C.05

D. 0.6

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_IjZ9yJdsoEem

7. The ratio of the incomes of Pand Q is 5: 4.

The ratio of their expenditure is 4:3 The
2

savings of P more then that of Q by 16§ % .

What percentage of his income does P spend ?

2
A. 52§ %

1
B. 53§ %

1
C. 545 %

2
D. 515 %

Answer: B

I ° Wiak~lh \AAA CAaliikianm



https://dl.doubtnut.com/l/_b2rdfz3anzlc



https://dl.doubtnut.com/l/_b2rdfz3anzlc

